PROFESSIONAL
FK 6522 - 154822;FK 6524 - 154824, FK 6526 - 154826

MNos. NaeHT. H LleHa MwuH. MNos. UaeHT. H LeHa MwuH.
No. No. aumerosanme EUR K-B0 No. No. aumerosanne EUR K-BO
1 174013 Kopnyc peaykropa 42 360646 BuHT K 4x9.5
2 330125 MoalwmnHuk HK 1212 43 361120 BuHT K5X40(D10)
3 330944 MoawmnHmK 6300 2RSL P63 LDS18SpA 44 120724 BTyAKQ CETeBOro LWHypaA
4 163341 YNAOTHUTEAD 45 152574 |lHyp ceTteBom
5 173936 Lanéa ynopHas 46 360255 BuKHT 5x30
6 173934 KoabLO cTOnopHoe 47 172764 TMpepOXpPaHUTEAL
7 154758 LUnnHaeAb 48 172766 CTaHUHAQ
8 173935 BTyAKQ pe3nHOoBAS 49 172770 Ocb nepeaHas
9 154761 THe3A0 NOAWUMHUKA 50 172771 Ocb 30aHas
10 117504 LWanbéa peryapytoLas 51 172769 YNAOTHUTEAD
1 117505 LWanbéa peryanpytoLas 52 172768 Kpsblwka
12 162666 3ybuaras napa 53 125006 Pyuka dukcupyiowas
13 113256 Tanka 54 172772 BUWHT CNeuManbHbIN
14 174007 BtyAka 55 154323 Poank L 50
15 174021 MpyXunHa 56 154324 Poank L 28
16 174008 Lot 57 330483 Konbuo B12
17 330344 Konbuo 6X1.5B NBR70 58 360173 Tanka M8
18 330352 KoabLo 80X2B 59 361009 BoatT D1-M8x30
19 113244 TMpy>XnMHA CNMPAAbLHAS 60 154764 THe3pA0 NMOAWMNHMKA B c6ope
20 174006 KacoBuwa cronopa 61 140005 LWanba 6oabwas
21 174020 Wanba 3awmrtHas 62 116431 Wanba peryampyiowias
22 330473 Konbuo ovikcupytowee A40-1D 63 152085 LWanba peryampyiowias
23 330124 MoawnnHmk 6203-2RS 64 360054 LWanba M8
[ 24 177333 Teno 65 360246 BuHT M5x16
[2]:[3] 24 174000 Teno 66 360385 Lanba M5
25 174005 KpblWKQO LLETKOAEPXKATEAS 67 360672 BuHT M4x10
26 174004 Andoysop 68 330484 Konbuo B15
[ 27 177406 Cratop B cbope 69 360385 LWanba M5
[21 27 176330 Cratop B cbope 70 361012 BuHt C1-M5x25
[3] 27 176452 Cratop B cbope 71 154765 TAQHKQ
[11 28 177405 Potop B cbope 72 150015 Kalou cneumanbHbin 200
[2] 28 175423 Potop B cbope 73 606738 Kniou 4
[3] 28 175040 Potop B cbope 74 127220 OnaaHey
29 190020 LeTkoaepykarenb B cb6ope 75 127217 Wanba peryampyiowias
30 163014 Uletka 76 127218 Wanba peryampyiowias
31 163015 LLeTka ¢ KOHTOKTOpOM 77 127219 Tanka 3aTIrvBaoWAst
32 164934 BTyAKQ pe3nHOBAS 78 121265 Pykositka
33 360646 BuHT K 4x9.5 79* 330704 Konbuo 5x1,5 NBR 70
[ 34 360870 BuHT 3.9X460 80" 330331 Konbuo 10X1.5B
[2]:[3] 34 162537 BuHT 3,9X74 201 178149 WHCTPYKUMS NO eKkcnaoaTaumnm
35 1564350 BeHTuAATOP 202 173175 YNOKOBKA MHAMBUAYOABHAS
36 151648 Lanba 3aWwmTHAs 204 141745 KoHcucTeHTHas cmaska 8 - 1,00 kg.
37 331149 MoawmnHmK 608-2RS-P63 LDS18SpA
38 174002 PykosTKa MNMpumevyaHue:
[ 39 154815 Bbikaouatens PS16 EO3 [1] - ToAbKO AAS FK 6522; [2] - Tonbko ang FK 6524; [3] - Toabko ans FK 6526
[2] 39 154816 Bbikaouatens PS16 EO3 *-c 01.02.2010
[3] 39 154817 Bbikaouatens PS16 EO3
40 360654 BuHT K 4x18 FK 6522
41 151671 Ckoba CeteBoro LHypa 46 40 FK 6524

SPARKY® POWER TOOLS

FK 6526

177



